(\']_I
>
)
O]
~
—i
=
8
d—JQ|_
<10
©
®
S
ol
ye)
~
@)
(9]
R e
@]
—107°
—
107°
2
%)
<
|
l_
<
o 1
o
<
04
0.5

13000 GeV pp tt
L

— I i I i | i I i I i I i I i |:
— top . . —
n pT (ATLAS semileptonic ttbar) ]

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

B ATLAS
--G-- Pythia 6.428 345
—A— Pythia 6.428 370
Pythia 6.428 ambtl
—— Pythia 6.428 z2

T T T[T TTT[TTTT]
e bl
N

3

L —0.5

. I . I . I . I . | . I . I . I . I . |
0 500 ot 1000
pt" [GeV], p>*"} in [30,80] [GeV]



	Contents
	Page 1


